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AL . ] CSM = 24
Haryana Police Constable Question Paper 25 Aug 2024
1. Pick the odd man out. 1. g firmr gfo |
(A) Snake (B) Lizard (A) T CRLEE
(C) Crocodile (D) Whale *{E"SE] (C) UMH=8 ¢ (D) B
(E) Not attempted ERE (E) arrfad
2. Where was the 26™ Al India Forest 2. g i 26 4 Fiftaer T A T
Sports Meet held in Haryana? wferfirar el s 6 T 7
(A) Rewari (B) Panchkula (A) T \AB) TR
(C) Sirsa (D) Palwal (C) T (D) weTa
(E) Not attempted (E) st
3. \é\{hfaft Js the rank of Chief of the Naval 3. A WE F TG B B T g7
aff 7 =
(A) Vice Admiral (A) dred
(B) Admiral IAB) Tef
(C) General (©) " "
(D) None of the above (D) ST A w1 Tl
(E) Not attempted (E) s
4. Merino sheep is originated from 4, M dEH IR FEAGEE 7
(A) Spain (B) India YA) T (B) WRd
(C) Pakistan (D) Bangladesh (C) IfhEd™ (D) ST
(E) Not attempted (E) 3rsarted
5. The value of 9°+(9)° is 5. 9°+ (g)gozm o
(A) 9 (B) 99 (A) 9 - (B) 99
(C) 11 (D) 10 (C) 11 | D) 10
(E) Not attempted (E) 3T
6. Where is North India’s first nuclear power 6. TRATT # IR NG T Y& WA x|
plant set up in Haryana ? HIT gl T TR M @ 7
(A) Palwal (A) Icidol
. LgiE
(B) Kaithal h ,Q*Ff,,.r, (B) Fud
(C) Gorakhpur o %&C) TRER
(D) Pinjore (D) fo=ik
(E) Not attempted (E) aTvanfya
B -2-
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7. Incubation period of duck eggs in days is 7. @d@ % aral &l IHEA “hic
1 BT 8 7
(A) 21 (B) 28 A 21 (B) 28
(C) 30 (D) 18 ?ﬁ.";:'g'l. C) 30 (D) 18
@rE
(E) Not attempted (E) e
e, T O R
8. In a group of 5 boys, Vasant is taller than g. 5Shi & UIE ¥ T,

Manohar but not as tall as Raju. Jayant is
taller than Dutta but shorter than Manohar.
Who is the shortest in group ?

(A) Raju (B) Dutta R
(C) Vasant (D) Jayant¥
(E) Not attempted N

9 |fx mpth 24
- —=—,hen =
243 Y

RiE
e

y . v- _%\, oy
(A) 16x  “7Z" (B) 24x
(C) 36x (D) 30x

(E) Not attempted

10. What is the main benefit of using functions
in programming ?

(A) Reduces readability

(B) Increases code length

(C) Increases code reusability

(D) Reduces the need for debugging
(E) Not attempted

11. 15 women or 10 men can complete a
project in 55 days. The number of days
5 women and 4 men take to complete the

same project is fopant fea = 2
(A) 70 B) 100 g (A) 70 (B) 100
©) 78 ® 75 &g () 78 LBY75
(E) Not attempted (E) Tomiira
3 2
_ gsw= 4o M S B
&7 wi2 IS X@ XSS
49#04?332, -

e . s i
g L e e T @ | S, o
e 2 i T A B § | E

ST AR 7 f
(A) T, U & i
(C) =&d (D) w4 qo
(E) TS
X 16‘ _
9. w&ra.a‘rsz
(A) 16x (B) 24x
\AE) 36X (D) 30x
(E) 3tsEnfd
10. S o e 1 ITAN HH H &I
AR R 7

(A) TSR HH T <l B

(B) g i TETE FEwT 2
uzfaﬁgﬁg{uﬁ@mm%

(D) feafimt i sravsa F7 W T B

(E) 3Tofyd

11. Th qiESET Sl 15 Afga O 10 IE
55 fet & U o Tehd & | SH uiEeEn B
T HH % foa 5 afeenatli 3R 4 geut =
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12.

13.

14.

15.
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McMahon line is a borderline between
India and

(A) China

(B) Bangladesh

(C) Pakistan

(D) None of the above

(E) Not attempted

Which is the oldest canal of Haryana ?
(A) Gurgaon Canal

(B) Bhiwani Canal

(C) Bhakra Canal

(D) Western Yamuna Canal f‘t;‘:.p:z,f.
(E) Not attempted

Which soil is having pH less than 7.0 ?
(A) Acidic soil

(B) Alkaline soil

(C) Calcareous soil

(D) None of the above

(E) Not attempted

At which southern point of peninsular
plateau, Western Ghats and Eastern
Ghats meet ?

(A) Cardamom hills

(B) Nilgiri hills

(C) Mudumalai hills

(D) None of the above

(E) Not attempted

-4-

csm - 24

12. v v e s ek e o AT

Rec I o
—TA) H7

(B) TR

(C) mfrem

(D) Ivf ¥ & g T
(E) aTenfya

13, g A Fed qoft 7e HH-H R 7

(A) TSI TR

(B) Pramft 7=

(C) Hr@sT I8
4By afeadft I T8
(E) 3T9=idra

14. g firdt @1 die= (pH) 7.0 9 A
BT g ?
LSRR
(B) & fogt

_ Fehi g

:E,f;gj!l (C) -ﬁr&”f

ZEE (D) 3qged o @ g T
(E) JT9ITiaa

15. WEEE TR & T gl fag W
gfeat wre 3R gt e fierd 2 7

(A) Hrerm it arfsat

Y rafii A1 verfeat
(C) HgHes @i waTsal
(D) I § & A T
(E) 3rvanféd

V

©
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16. What does loT stand for ?

17.

18.

19.

20.

(A) Internet of Technology
(B) Internet of Things

(C) Internet of Tools
(D) Internet of Transfers
(E) Not attempted

What is a nested loop ?

(A) A loop inside another loop

(B) A loop that runs forever

(C) A loop with no body

(D) A loop with a single statement
(E) Not attempted '

Pick the odd man out.

(A) Mercury (B) Jupiter
(C) Venus (D) Moon
(E) Not attempted

Where is the Motilal Nehru Sports School
situated at Haryana ?

(A) Rai (Sonipat)

(B) Pataudi (Gurugram)

(C) Thaneshwar (Kurukshetra)

(D) Morni (Ambala)

(E) Not attempted

Which of the following city hosted the
Global Partnership on Atrtificial Intelligence
(GPAI) Summit 2024 ?

(A) New Delhi

(B) Surat

(C) Hyderabad

(D) None of the above

o
o o
B

(E) Not attempted

CcSM — 24

16. loT o1 Fae™ F1 8 7

17. IR FE ?
\_AA) z@i?ﬁ%m@@
(B) T 3 A E AT T 8
(c) femm =t arer T <0
(D) el HeH aren Th T

(E)
18, @ A= IHT |
(A) 99
(C) Th
(E) Irsrnfé
afemon # Hrdee e wieE TR FE
Rag?
Ay TS (Erad)
(B) TS (TTEUTH)
(C) YRR (FE&)
(D) HA (3F=Te)
(E) 3rsanfad

20. frefufiga & & frm wet 3 Sbm gfgmn
R AT TRl (Shde.ars. ) Rt
geiied 2024 6 AT 6t 7
o) % feeeh
|AB)

(C) &eUETg
(D) I & § IS T

(B) Teeufd
_4DB) =IsHI

19.

(E) v
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22,

23.

24.

25.
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The Red Data Book contains a record of
(A) Extinct species

(B) Endangered species

(C) Common species L5
(D) Invasive species

(E) Not attempted

How many National Parks are there in
India 7

(A) 1014

(B) 106

(C) 108

(D) None of the above

(E) Not attempted

An electric bulb is connected to a 220V
generator. The current is 0.50 A. What is
the power of the bulb ?

CSM - 24

21. X3 =11 9% | fepae frahid #rar 2 7
(A) fereqea srmfarat

92. WA A foha U ITH § 7
(A) 1014
£B) 106
(C) 108

(D) 3w | & I3 A
(E) rwanfea

23. T fae@ wea &l Th 220V & IT &
iteT T ® | forgd aWr 0.50 AR | e

o] <l wifFd T8 ?
(A) 440 W (B) 110W "bgm (A) 440 W By 110 W
©) 11w (D) 44 W E=E ) 11w (D) 44 W
(E) Not attempted (E) STvariea
Which of the following city in India was | 24. WRa % Frfefaa # & fpa wgt =t favd
officially recognized as a “World Cratt City” freq uitwg (Seey Hlefl.) gr R

by the World Crafts Council (WCC) ?
(A) Jaipur (B) Pune

(C) Srinagar (D) Mumbai

(E) Not attempted

If the simple interest on a certain sum of

money for 2 years is one fifth of the sum,

then the rate of simple interest per annum
is

(A) 10% (B) 12%
(C) 7.2% (D) 9%
(E) Not attempted
L
2*{/.’ S '6'

s\

w9 U “fava few we” < §9 ° "=l
fTER?

(A) ST (B) T
LAC) #R (D) 4%
(E) vty

25. 3fe Tt Tifaa amafyn w2 =t s g
TS 39 G0N 61 qi=El 9 g, 9 i
= < aiffes < @ Bl v

Ay 0% (B) 12%
(C) 7.2% (D) 9%
(E) IToafaa
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IV;'Q oo

26.

27.

28.

29.

30.

India’s rank in global Human
Development Index 2022 is
(A) 134 (B) 130
(C) 132 (D) 133
(E) Not attempted

Who invented the concept of the stored
program computer ?

(A) Alan Turing

(B) Charles Babbage
(C) John Von Neumann
(D) Blaize Pascal

(E) Not attempted

In India, every year National Sports Day
is celebrated on

(A) 17 August

(B) 29 August

(C) 22 March

(D) None of the above
(E) Not attempted

How many districts were present at the
time of the formation of the Haryana
State in 1966 ?

(A) 6
(C) 8
(E) Not attempted

(B) 9
(D) 7

The volume of a cuboid of length 5 cm,
breadth 3 cm and height 4 cm is

(A) 60 cm®

(B) 12 cm®
(C) 45 cm® [El’_',gl
(D) 100 cm® =17

(E) Not attempted

CSM - 24

26. AfFan A faeRrg geTh 2022 § Wi

1 TIH TR 7

LX) 134 (B) 130
(C) 132 (D) 133
(E) arwnfira

27. TUED W HEE Y FATOM
anfersan fore fopm 2
< A) TeA SR
[EEE (B) =med e
¥ (c) S o =
(D) = UTEhd
(E) Irranféa

ia | Wi a¥ Uiy @ feaw wa gamn
ST ® ?
(A) 17 30T

{_(By29 3T
(C) 229

(D) 354 # & 13 T
(E) 3Tvanfia

1966 H BN T4 % T % T97 Freay
IERE K
(A) 6
(C) 8

(E) v

e 5 A, e 3 W ot g 4 A

ITel ST 1 A =1 R 7
~(A) 60 T3

(B) 12 &

(C) 453

(D) 100 Tf®

(E) 3snfia

28.

29.

(B) 9
\(Dy7

30.

| G i vt
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31.

32.

33.

34.

35.
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What was the theme of International
Mountain Day 2023 observed on
11 December ?

(A) Restoring Mountain Ecosystems
(B) Mountain Biodiversity Restoration
(C) Mountains and Glaciers Restoration
(D) None of the above

(E) Not attempted

If{1%2=22 2%3=236,3+4=412, then
4%5=

(A) 420
(C) 520
(E) Not attempted

(B) 45
(D) 54

What is the primary function of pepsin in
the digestion ?

(A) Break down of carbohydrates
(B) Emulsify fats

(C) Convert lipids into fatty acids
(D) Digest proteins

(E) Not attempted

In which district of Haryana is the Badkhat
Lake situated ?

(A) Hisar
(B) Jind E%E
(C) Sirsa i'j‘fuk

(D) Faridabad
(E) Not attempted

Rejupave Technology is related with

(A) Dam construction
(B) Road construction
(C) Urban forest creatior
(D) None of the above
(E) Not attempted

3.

(_(Cy 520

33.

34.

CSM - 24

11 feamr ) wATC U S T feTE

2023 =T fagg =1 o1 7
(A) Tede iRt @ < gl
(B) wedta Srafafaear i greigred

ey e stk ifkat 6 g
%&g (0) S & @ i T
=) " (E)

32. AR 1+2=22,2%3=36,3+4=412,7

4%5= 530
(A) 420 (B) 45
(D) 54

(E) 3Twamted

qre o A 1 Tl S e 7
(A) FETEIEEE I TiEfdd T

a7 a1 qTEEiE
Lse) Faftre 1 HA wftrs # ulfdd T

(D) T 1 9= ST
(E) Jrwamtad

zhamn ¥ fem e § sesEa AW
ome e
(A) feam
(B) Siig
(C) e

\AD) HigETe

(E) Twamtéa

35, fo¥a aeiie ferad gefta B ?
~(Ay =g fmio

(B) ws® fwiw

(C) W&l a7 fmiw

(D) I | | 1§
(E) Itwanfad
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37.

38.

39.
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What is the purpose of the ‘break’
statement in Python ?

(A) Tostart aloop

(B) To pause a loop
(C) To terminate a loop
(D) To continue a loop
(E) Not attempted

Select the correct combination of numbers
so that letters arranged accordingly form a
meaningful word.

T E L S
1 2 3 4

(A) 1,2,3,4,5,6
(B) 4,6,5,1,2,3
(C) 5,6,4,1,3,2
(D) 6,5,3,2,4,1
(E) Not attempted

cC A
5 6

Where was the Shanghai Co-operation
Organisation Summit 2024 organized ?

(A) Pakistan

(B) Japan o
(C) Singapore E:‘SE‘I
]

(D) Kazakhstan
(E) Not attempted

The decomposition of vegetable matter
into compost is an example of
reaction.

(A) Calcination
(B) Exothermic
(C) Endothermic
(D) Burning

(E) Not attempted

-9-

CSM -24

a6, G § FF VI F R FN @ 7

< (A) Th T IYE HU
i (B) T T4 I THT
(D) T T I A T
(E) IR

3} F1 T TAeE AT Tl TR
e A U e eg 9 Eeh |

T E L S C A
1 2 3 4 5 6

(A) 1,2,3,4,5,6
(B) 4,6,5,1,2,3
(_4e] 5,6,4,1,3,2
(D) 6,5,3,2,4, 1
(E) SRR
T TE e ek e 2024
THal I R TR An 7
(A) TTTREAH
(B) ST
(C) famgt
By HaTienEH
(E) TSR

E%E

37.

SACT&L

ch STLE

38.

39. (A Yerd <1 @e | qued
IIMNfraT 1 T IR B |

(A) SHedee
LAB) FeHIEH

(C) eIt
% (D) Ve

(E) 3TRIT¥a
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40.

41.

42,

43.

44.
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In which of the following year was the
UNESCO Creative Cities Network
(UCCN) established ?

(B) 2015
(D) 2004

(A) 1998
(C) 2010
(E) Not attempted

Value that appears most number of times
in the given data of an attribute/variable is
called

(A) Mode

(B) Median

(C) Mean

(D) None of the above

(E) Not attempted

Yamuna River enters Haryana from the
district of

(A) Ambala (B) Sirsa

(C) Yamunanagar (D) Bhiwani

(E) Not attempted

In Python, which symbol is used to start a
comment ?

(A) //

(C) #

(E) Not attempted

(B) \
(D) -

Find the correct option for the missing
number (?) in the series.

11,9, 18, 15,45, 41,7
(A) 164

(B) 162

(C) 158

(D) None of these
(E) Not attempted

(5] %if=]
R
i

-10-
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40. IEH TR TR Aedeh (. HLE.)

&1 vy frefafag # @ frg =d A
g ot 7
(A) 1998 (B) 2015
LAC) 2010 (D) 2004
(E) s
a1, Tt oftege/Afteae i & T ST A
Had s SR yehfa g 9 9 &
T T T2 7
A
im (B)
T &

L
[ (D) I # & FIE T

(E) 3Tstéa

42. =g 7 ghamon # fr R @ waw
HA B ?

(A) IS (B) T
LAC) TGTAR (D) ot
(E) Auatéa

43, T HA Y FA % R R i

=T I fRa ST 2 7
(A) // (B) \

LAC) # (©) -
(E) STormiéa

44. sfEen ¥ ge g (7) % faw @ ooy

T T |

11,9, 18, 15,45, 41,7
LA) 164
(B) 162
(C) 158
(D) 3T ¥ =15 TG
(E) TSR

(¥ Scanned with OKEN Scanner
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45. Which kind of output device converts
digital information into a physical
(hard copy) form ?

(A) Monitor (B) Printer

(C) Scanner (D) Keyboard

(E) Not attempted

46. Which is the smallest district of Haryana

in terms of area ?
(A) Hisar

(C) Panchkula
(E) Not attempted

(B) Bhiwani
(D) Ambala

47. When did the Federal Court of India start

functioning ?

(A) 01 October, 1937
(B) 01 October, 1945
(C) 02 October, 1930
(D) None of the above
(E) Not attempted

48. What is the total area of Haryana State at

present ?
(A) 42232 square kilometres

(B) 46217 square kilometres
(C) 44212 square kilometres
(D) 48219 square kilometres
(E) Not attempted

49. Which of the following crops are typically

sown during the rainy season ?7
(A) Winter crops
(B) Kharif crops

(C) Spring crops E]..-EE]
(D) None of the above @ﬁb
(E) Not attempted

45.

46.

(A
[BIEE () degen
dﬁi‘?)é) st

47.

48.

49.

-11-
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fpg w1 anSeye feamsw fefe
ST < fefrere (318 wdt) F w7 A
yfafdd w2 ?

(A) it By T

(C) T (D) SrErS
(E) SToranféd
She o g A giEm w1 gEh BIa
e FA-ar g 7
) femm (8) firarh
(D) 3A€TAT

WRA % G A 3 %9 A HR B
& fomam ?
LA 01 TR, 1937
(B) 01 3TFLI, 1945
(C) 02 31T, 1930
(D) 3ud%d # & HIE &
(E) Twatéa
A § SRITOT TT HT ol SABSA
fram® 7
(A) 42232 = fehreieX
(B) 46217 a1 feraiiex

A€ 44212 T fepairdie

(D) 48219 = fepaindiex
(E) Twaiya

freferfiaa § @ forg waa = IHAR W
Iyl kg § ST ST @ 7
(A) Tt 6 wad

LBy Tl® wEct

(C) 9Ha 1 B
(D) 3w & | HE T
(E) 3Twfya
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50. The zoo had some lions and some parrots.

51.

52.

54.
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CSM -24

3 S o e
50. &r&;mmﬁ@ﬁtﬁﬁgmuum

! (C) Oryza sativa

The keeper counted 15 heads and 50 legs,

then the number of lions is P {

o 60
(A) 9 30 .
(B) 12 . b \”
(D) 10 OBy

(E) Not attempted

In which city of Haryana, Arjun Stadium
is situated ?

(A) Karnal
(C) Jind
(E) Not attempted

(B) Sonipat
(D) Hisar

In India, every year National Girl Child
Day is celebrated on

(A) 24 January

(B) 16 January

(C) 14 January

(D) None of the above

(E) Not attempted

The scientific name of National Flower of
India is

(A) Nelumbo Nucifera Gaertn
(B) Jasminum

(D) None of the above
(E) Not attempted

What is the ancient name of the
Markanda river of Haryana ?

(A) Aruna
(C) Manasa

(B) Meeru
(D) Malaya

3 15 for 3 s0 A fr, a1 1 1 HEA

53.

(E) Not attempted

=12«

fepat 8 7
(A) 9
(B) 12
(C) 11

L7 10
(E) HAyaiéd

51. gh@mn % fre et § 3T feam
femg ?

(A) HAT (B) GHITa
—~(C) fig (D) feam
(E) Ty

52, WRA § wfa a9 U wiiereRt feag e
WA ST R ?
LAA) 24 STl
(B) 16 Hakl
(C) 145l
(D) Suged | & =i L
(E) 3mwanfaa

\4A) FgmaT =BT e
(B) SAfemam

(C) It wrfaar

(D) 3w # § s AL
(E) Imuaniyd

54, ERAT % qReHS! 9E w1 I T

R 7
AA) 37T
(C) ATET
(E) 3twanfyq

(B) =
- (D) "R

(¥ Scanned with OKEN Scanner
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56.

58.

59.

S7.
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How many villages are there in Haryana
according to Census 2011 ?

(A) 6754 (B) 6841
(C) 6657 (D) 6895
(E) Not attempted

Ifa=—-1andb = 3, then the value of
(a+b)%is

(A) 4
(C) -
(E) Not attempted

(B) 16
G 2
[l
The Hailey (Corbett) National Park, India’s
oldest National Park was established in
the year

(A) 1930
(B) 1932
(C) 1936
(D) 1939
(E) Not attempted

Giri and Tons are tributaries of which river
of Haryana State ?

(A) Tangri (B) Krishnawati

(C) Yamuna (D) Markanda

(E) Not attempted

In a certain code language, SIKKIM is
written as THLJJL. How is TRAINING
written in that code language ?

(A) SQBHOHOH
(B) UQBJOHCH
(C) UQBJOHHO
(D) UQBHOHOF
(E) Not attempted

55.

56.

57.

58.

59.

El@

13-

L—(A) 4

(AC) I

i[g]
¥

b
% UQBHOHOF

CSM - 24

2011 % ST 3 AR Bfemm § fHa
a8 ?
(A) 6754

(C) 6657
(E) A=

e a=—13Mb=3%, d (a+by’H
LIERd

(B) 6841
(D) 6895

143

(3

(B) 16
(C) - (D) 0

(E) Jramfed

T o1 T8 gUAT TS 3, gl
(i) T e feohg o H wfud
fepam T o ?

(A) 1930

(B) 1932

\_(C) 1936

(D) 1939
(E) IT9=Ttea

iy afk 2\ sfamn == & g 7d 61
TR Afedl & 7
(A) 2 (B) ot
(D) HIhST
(E) ITw=Ta

SIS P

ush ffFa e 9T § SIKKIM &1 THLJJL
foran wmar @ | 3 Fe W A TRﬁ\lNIN?
1 &3 ferdi 7 iRy &
(A) SQBHOHOH
(B) UQBJOHOH
(C) UQBJOHHO

)

(E) 3Tw=téd
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61.

62.

63.

64.
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How many athletes from Haryana are

participating in the Paris Olympics 2024 7
(A) 19 (B) 24
(C) 16 (D) 29

(E) Not attempted

In a mixture containing milk and water,
the ratio of milk to water is 3 : 1, then the
quantity of water in 10 litres of mixture is

(A) 3 litres (B) 2.5 litres e

(C) 1 litre (D) 1.5 litres

(E) Not attempted %E
s

If e = 5_—1 then the value of x is

5 2
(A) 4 (B) 5
(C) 1 (D) 3

(E) Not attempted

Headquarters of International Solar
Alliance (ISA) is located at

(A) Mumbai

(B) Gurugram

(C) New Delhi

(D) None of the above

(E) Not attempted

Where is Indian Institute of Horticultural
Research located ?

(A) New Delhi
(B) Bengaluru
(C) Lucknow

(D) Hyderabad
(E) Not attempted

cSM - 24

60. &ﬁaaﬁaﬁﬁzmﬁgﬁwmﬁﬁﬁﬁ

wrefle MA@ E 7

(A) 19 (B) 24
(C) 16 (D) 29
(E) vaTiEd

61. eg:aﬂwr:ﬁéaﬁwﬁqﬂaﬁwﬁ‘ﬁm
mgma:m%,?hmaﬂz{ﬁmﬁwﬁﬁ

T fRat 2 7

(A) 3T Lg) 2.5
(C) 17 (D) 1.5
(E) FvaTEd
62, af X2 X 13 qxwmAAE
5 2
(A) 4 (B) 5
() 1 (4D) 3
GEELRUE
63. WWWWWEﬁ
femz ?
(A) TS
\__(B) &A™
(C) 7% feeett
(D) 3T § & FIE T
(E) 3T=méd

64. W STETT TN e HEl
feme ?
(A) 7§ foeett <
(B) STeLE
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65. The HCF of 16 and 24 is EI%@
(A) 4 B) 2  [EH
(C) 8 (D) 16

66.

68.

69.

70.

Join Telegram Group "HaryanaJobs.in"

(E) Not attempted

Where is the Headquarters of
Mahendragarh district in Haryana ?

(A) Narnaul (B) Karnal
(C) Kaithal (D) Bhiwani
(E) Not attempted

If the average age of 3 girls in a family is
4 years, then the sum of their ages is
(B) 12 years

(D) 7 years

(A) 4 years

(C) 9 years

(E) Not attempted
How many numbers between 9 to 54 are
exactly divisible by 9 but not by 3 ?

(A) None (B) 8

(C) 6 (D) 5

(E) Not attempted

Which of the following instrument is used
to measure wind velocity ?

(A) Barometer

(B) Hygrograph

(C) Pyradiometer

(D) Anemometer

(E) Not attempted

If 18" March was Wednesday, then which

65.

CSM — 24

16 31 24 1 HE=H GATTETH 2
(A) 4 (B) 2

L©) 8 (D) 16
(E) TSt

66. aramn o Hege ffel 1 HEATd

FE 8 7

(_AY AT (B) HTATA
(C) o (D) Tt
(E) e

67. afe e uam # 3 AefhAl i 3Ed 3

68.

69.

494 B, A I G AT HTE ?

(A) 44 \_(By 1239
() 9T (D) 7
(E) rwETtad
9 54 % g i fha GEATd 9 H i
T 2 wg 39 T ?
|A) IE & (B) 8
(C) 6 (D) 5
(E) 3TSmtEd
fyfafaa § 9 fra IT=ho 1 39T 91
31 A9 < fere fopam ST @ 7
(A) STHT
(B) FTHTTH
(C) HrstfeamHiet
(D) wHiHHI
(E) 3rsEnfaa

70. 3If2 18 W= I gUER &1, @ 1 7= I

day will falls on 1% March ? F—1 &= 2 7

(A) Tuesday (B) Friday %ﬂ@l (A) HTEER (B) AR

(C) Thursday (D) Sunday E7F7 (C) TR D) ThEw
(E) ST

(E) Not attempted
-15-
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AL

71. One ampere is equal to
(A) One coulomb per second
(B) One volt per second
(C) One joule per coulomb
(D) One second per coulomb charge
(E) Not attempted

72. What was the theme of World Children’s
Day 2023 observed on November 20 ?
(A) Imagine a better future for every child
(B) Children of today, our keepers

tomorrow
(C) For every child, every right
EEE); :one of the above %El
ot attempted E]Fg,?;

73. Who is the father of Indian
Psychoanalysis ?
(A) Sudhir Kakar (B) Suman Ranganath
(C) Suhas Mishra (D) Shamanth Singh
(E) Not attempted

74. The current through a resistor is inversely

75.

proportional to its

\ /(A*) Potential difference
(B) Resistance
(C) Electrical charge
(D) Heat dissipation
(E) Not attempted

ct

In a certain code language, ‘134’ means
‘good and tasty’, ‘478 means ‘see good
pictures’ and 729’ means ‘pictures are
faint’. Which of the following digit stands
for ‘see’ ?

(A) 9

(C) 1

(E) Not attempted

(B) 2
(D) 8

=16-

71.

72.

73.

75.

CSM - 24

v Fefi e uc

LiA) T e S #S

(B) qmaharsrﬁfﬁérs'
*(C) T 1 3fd FeT |
(D) UF Hehs Ffr FAd AT
(E) rwfad
20 7= i gATe e forve ATt feaH 2023
1 fawa == o 7
&
(B) 3T & =, Fcl % AR @
(C) & a=4 & foTu, & HfeHn
(D) 394 H | I3 Tal
(E) 3T5amiEa
WA BTN o 9 i & 7

(A) G FaFhs  UB) g THT™
(C) gera fasn (D) w4 f&E
(E) 3w

we fAfeea g 9 § 1134 %1 319 ‘good
and tasty’ &, 478’ I 14 ‘see good
pictures’ & 3R 729’ &1 31 ‘pictures
are faint’ 8 | F=feiEa 4 o s=-91 31
‘see’ i E?ﬁ?ﬂ % Y

(A) 9 (B)
(C) 1 \_4B) 8
(E) 3rvamftaa
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or iy
76. If ———= ; , then the value of x is

78.

79.

80.

4 X
(A) 16 (B) 12
(C) 14 (D) None of these
(E) Not attempted q-s -1
12-5 . 1 syl
SR,

Which letter will come in the place of
question mark ?

PRV, 9

(A) Q (B) L

C) M (D) X

(E) Not attempted %EI
s, Jm E5

The value of 2° + 107 is

(A) 1080 (B) 38

(C) 1008 (D) 1800

(E) Not attempted

Which of the following district is known as

Paris of Haryana State ?
(A) Karnal

(B) Panipat

(C) Gurgaon

(D) Rohtak

(E) Not attempted

Where was the world’s first portable
hospital unveiled ?

(A) Gurugram

(B) Ranchi

(C) Patna

(D) None of the above

(E) Not attempted

(K] AT

(B) 9TIq

QEE'- (C) Tsm=

sy (0) g
(E) Ayamtaa

EAE IR
\ A TR
(B) Tt

(C) e

(D) I &
(E) Twanfém

-17-
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76, M O_2_T3 Axwmam 2
X X
A7) 16 (B) 12
(C) 14 (D) ¥ & =l T
(E) rvanfi
77. w9 fo@ % I W BA-T1 3R A 7
P,R,T,V,?
(A) Q (B) L
(C) M ABY X
(E) 3Twrféd
78. 22+10°HUA R
(A) 1080 (B) 38
\_(ey 1008 (D) 1800
(E) 3T9ETRa

79. fr=fafeas 9 9 form fe =1 sfemon o=
%1 URH HET A1 8 ?

80. fava & U= Yiael ETATS 1 AT

?

q i T

(3: scanned with OKEN Scanner



r

o

81.

82.

83.

84.

85.
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th ,
In a row of trees, one tree is 7 from gllhef
end of the row. The number of trees in the
row is

(A) 15 (B) 14 oy
(C) 13 (D) 12
(E) Not attempted

Which of the following component is
found in xylem tissue ?

(A) Sieve tubes

CSM - 24

el 61 v ifaq 1 v T3 fad % 2
BUH 7 9 T TR | ufa | g2 A
ge feaft 2 7

(A) 15 (B) 14
C) 13 (D) 12
(E) rspnfaa

82, TR S § freAfelfEd § # HH-H1
HEH G A1 8 7

AR) et (fam) Aferhi
(B) Phloem fibers (B) TeATTH HIFH
(C) Tracheids (C) 2frzH
(D) Companion cells P@g&g‘ (D) H’b’ FHifIHTT
(E) Not attempted

Which of the following State of India has
awarded with the Geographical Indication
(Gl) tag for its Lakadong turmeric ?

(A) Meghalaya

(B) Sikkim

C) A :
(C) Assam Ewg@
(D) None of the above Eﬁi{;
(E) Not attempted

Which is the first novel written in Haryanvi
language ?

(A) Dard-e-Ashoob (B) Sandesa
(C) Janan Janan (D) Jhadufiri
(E) Not attempted

The number of revolutions a wheel of
28 cms diameter make in travelling a

distance of 880 cms is (n = 2%)

(A) 100 (B) 10
(C) 24 (D) 50
(E) Not attempted 4 2

83. Wﬁaﬁémmmﬁm
ATHIEN Bodl & fora foammfterer sfEeem
(.37, ) &1 | et foRar T @ 7
(A) TETEH
(B) fafe=n

\€) IEH
(D) 39 | | H1s TE
(E) 3TsRtHa

84. wfEmrh W H for@n T YEen 3T

HE-TT 7 7
(A) -T-IE  (B) HaHl

(C) ST T UB) FTEHd
(E) STv=iad

85. 28 Tl =M T U Utedr 880 Tl Hi

ot 7 FA °§ e ahl AT & ¢

o)

(A) 100 8 10
(C) 2 (D) 50
(E) awaﬁa
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86. Complete the following analogy.
Moon : Satellite : : Earth : ?

(A) Sun

(B) Planet

(C) Solar system

(D) None of the above
(E) Not attempted

87. Where was the 14" All India Police
Commando Competition organised ?

(A) Kerala

(B) Gujarat

(C) Madhya Pradesh
(D) Andhra Pradesh
(E) Not attempted

88. White Silver Chloride turns to in
sunlight.
(A) Grey
(B) Yellow
(C) Red
(D) None of the above (‘?‘.&%
[=]rz[=]

(E) Not attempted

89. Whatis a file ?

(A) A program stored in Random Access
Memory

(B) A temporary storage location

C) A named location on a secondary
storage media

= (D) A type of Python variable
(E) Not attempted

-19-

CSM - 24

6. fr=ferfiaa gaegar qoi Fifo |
51 ;IR ;P 7
(A) g4

\B) TE
(C) FI JoTTeft

(D) 37 o & g AE
(E) Irvanféa

87. 14+ sfEe vy gfera warer sfaaifiar
gl e i 78 7
(A) T
ﬁ?ﬁ“*&mw
= ¢) 7er wew
(D) 379 T
(E) TSR

88. THg fHeat F@Izs T 6 WhMT H
T Sga 91aT 2 |
(A) g ()

(B) e

«C) @

(D) 394 H | Frs 78

(E) Ts=nfaa

89. HIEA HT R 7
(A) IusH T A9 H SUEd U W
(B) Ueh TR WERU TH
€] T werwr Hifean w ws ifirg
H
(D) Tsh YR T ITFUA Afusa
(E) 3rwanfaa
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90.

91.

92.

93.
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The Supreme Court of India comprises
the

(A) Chief Justice and 28 other Judges
(B) Chief Justice and 33 other Judges
(C) Chief Justice and 34 other Judges
(D) Chief Justice and 30 other Judges

(E) Not attempted

Which number will come in the place of
question mark ?

2,8,5,7,11,13,7 1

(A) 17

(B) 18

(C) 13

(D) None of the above

(E) Not attempted

Which encoding scheme can represent
characters from almost all the languages

of the world ?

(A) American Standard Code for
Information Interchange (ASCII)

(B) Unicode

(C) Indian Script Code for Information
Interchange (ISCII)

(D) None of the above

(E) Not attempted

If in a certain code language, NIGHT is
written as REKDX, then how will CRIME

be written in that language ?

(A) GNMII

LgiE]
(B) GNMIJ sl
(C) SMNJI [=]7z[=]
(D) SMNJJ

CSM -24

90, A ¥ wt=a e i anfiret

(A) Wmmzeﬂm
_(B) T =i 3t 33 A AP
(C) = =raeftsr 3 34 3= AT
(D) q& =rrnfier 3R 30 3= AT
(E) arsrfaa
o o 3 T WS- e A ?
2,3,5,7,11,13,7

L (A 17
(B) 18
(C) 13

(D) 39 T T g TE
(E) TSiEa

S TRIfeT ThIT g T T
ft wreTaT & HiFe F1 FfarHie
TeRdl & 7

(A) 3T LE HIg BR FHAHI

s 3= (ASCII)
4By T
(C) 3fsTa forw +Ie R FFHIATA

3= (ISCIN)
(D) 39 # ¥ HI3 T
(E) Tsmtad

Ifg U FHe 9T H NIGHT 1 REKDX
forar <ran 2, @) 3€t w1 § CRIME =t
4 famn Ao th NHTE
\_(AT GNMII
(B) GNMIJ
(C) SMNJI
(D) SMNJJ

91.

92.

93.

(E) Not attempted

(E) 3TsnfEa
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Which is the first state of Ing
VAT (Value Added Tax) 2

(A) Uttar Pradesh
(B) Madhya Pradesh
(C) Haryana

(D) Rajasthan

(E) Not attempted

ia to introduce

which of the following institution p
a
launched the Sampoomata Abhiyans'>

(A) Reserve Bank of |ngig (RBI)
(B) Finance Commission of India

(C) Indian Space Res
(ISRO)

(D) NITI Aayog

earch Organisation

(E) Not attempted

‘Mera Bill Mera Adhikar’ Scheme of
Haryana State is relateq with

(A) Consumer Protection Act

(B) Public expenditure

(C) Income tax

(D) Goods and Services Tax (GST)
(E) Not attempted

In Indian Constitution, ‘Right to Education’
is enshrined under Article

(A) 20 A 2178

e [s]
(B) 51 A ggﬁ
(C) 21 A

(D) None of the above

(E) Not attempted

CSM - 24

o4, e if Az (e ik ) T A A
Wmaﬁﬂ—m% 7
(A)Wﬁ'ﬂ
(B)tﬂvll‘il:éf?T
AC) Efemm
(D) TEA™
(E) Frvanfaa

o5. frferfiaa & & fobm ween 3 el
W{[{im%?

. Lm) ford & st 3t (TR,

f'?ég(s) HTAt foret ST

[=): EI(C) e W g aAffATEsYH (35)
(D) fifer s
(E) Tw=fEa
96. gf@mn Tsw # T faw wU sAfteER
T fohed Hefug 2 2
C—(A) IuvTeRT Eeqo et
< (B) HTES(h =5
»(C) 3
(E) 3Tsanfaa
97. WA Hfae™ % fohg =T F aiwiq
‘e 1 afier fifeg 2 2
(A) 20 A
(B) 51 A
LAC) 21 A
(D) 3w # & ¥ T
(E) 3rsrnfia
21- B
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98.

99,

Which of the following is not administrative

division of Haryana State at present ?
(A) Ambala

(B) Sirsa

(C) Hisar

(D) Rohtak

(E) Not attempted

Which number will come in the place of
question mark ?

13 17 /25\ ?
5 12 8 ST 24 9 40

100.

(A) 41
(B) 45
(C) 50
(D) 52

(E) Not attempted

Metallic oxides are said to be

(A) Neutral oxides |

(B) Acidic oxides

(C) Basic oxides -:,‘ESE]
(D) None of the above E%ﬁlﬁ
(E) Not attempted

L

CSM - 24

98. frefefiaa i & Fy-mn adwr # #framm
T F1 o quee T4l 8 7
t'::ME](A)aﬁrrFﬂ
S
(C) feam
(D) T&as
(E) Jrvted

w91 firg % TIH W - ge

N

12 8 15

147

|4
925

139
235
G

L—(A) 41

(B) 45 oo e IS,

¢
(C) 50 f

(D) 52

(E) rvama

gifeqes ATFaT3S HI HET 141 2
A) ffsra srfaamse

~AB) I=Ag ATFETES

(C) & ATraTsS

(D) 377 H & B T

(E) rwamfyd

100.
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